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Question Number : 1 Question Id : 16794319588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Parsis are related to Zoroaster in the same way Christians are related to:

Options:
1.« Jesus

- % Ganesha
- % Catholics

4 % Muhammad

Question Number : 1 Question Id : 16794319588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 16794319589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the option figure that is similar to the below figures.
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Question Number : 2 Question Id : 16794319589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 16794319590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Given below are a few images. Identify the odd image.

TP B

A B C D

Options:
1. ® A

Question Number : 3 Question Id : 16794319590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 16794319591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A piece of paper is folded and cut as shown below in the question figure. From the given option figures. select the one
that indicates how it would appear when unfolded.
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Question Number : 4 Question Id : 16794319591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 5 Question Id : 16794319592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A piece of paper is folded and cut as shown below in the question figures. From the given option figures, select the one
that indicates how it would appear when unfolded.
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Question Number : 5 Question Id : 16794319592 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 16794319593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following chart shows information about the sales of the company ‘XYZ" for the year 2016 & 2017.

sales in crores
[
Lr

(%)

=1

‘What is the ratio of total sales of the company ‘XY Z’ for the year 2016 to the total sales for the year 20177
Options:

o R

> o 11215

= % 9115

4 % 15:9

Question Number : 6 Question Id : 16794319593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 16794319594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Spot the option figure that has the below figure embedded in it.
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Question Number : 7 Question Id : 16794319594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 16794319595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Study the following information carefully and answer the given questions.

For a recruitment process in an accounting organisation, the candidates need to possess the following qualifications
criteria:

(i) He/she should be a graduate in commerce with at least 60% marks.

(ii) He/she should be of at least 24 years of age and not more than 40 yearsason 1 - 7 - 2016.

(iii) He/she should have a post-qualification work experience of at least 2 years.

(iv) He/she should have secured 55% marks in the selection process.

If the candidate fulfills the above-mentioned criteria except:

(A) (i). and if the candidate is not a graduate in commerce but has a post-graduation degree in finance with minimum of
60% marks. he/she should be referred to the Finance Manager of the organisation.

(B) (iii), but if the candidate fulfills all the eligibility criteria of post-qualification work experience but has secured 75%
marks in the selection process, he/she may be referred to the Trainee Accountant.

Based on the above information. figure out whether the following candidate is eligible for the recruitment process. You
are not to assume anything other than the information provided in each question. The case is given to you as on
1-7-2016.

Vyshnavi has done graduation in Engineering with 61% marks. Her date of birth is 4. 3. 1991. She has qualified in the
selection process and has secured 69% marks in it. She also has three vears of post-qualification work experience.
Options:

1 % The candidate should be selected

- « The candidate is not to be selected

- % [Ihe candidate may be referred to the Finance Manager

4 = The candidate may be referred to the Trainee Accountant

Question Number : 8 Question Id : 16794319595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 16794319596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
You are on your way to college. You find a gold chain on the road. What should be your most appropriate step?

Options:

, = Hand over the chain to a nearby passing person

- » Hand over the chain to the college principal

=z % Pocket the chain



4  Hand over the chain to the nearby police station

Question Number : 9 Question Id : 16794319596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 16794319597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a sheet of paper is folded as shown in the figure to form a cube, what will the result be?
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Options:
, ¢ Aonly

- % AandConly

- % A, CandD only

4 % AB,C and D



Question Number : 10 Question Id : 16794319597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 16794319598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option.

A cycle must have -

Options:
1 « Wheels

5 % Battery

- » Rain proof Roof

4 w Vvegetable Basket

Question Number : 11 Question Id : 16794319598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 16794319599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following Venn diagram carefully and answer the question.

Gujarati 68 ﬁ £ Marathi

(B

52
Hindi

‘What is the ratio of people who speak Gujarati and Hindi but NOT
Marathi to the people who speak only Hindi?

Options:

0 0 e |

Question Number : 12 Question Id : 16794319599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 16794319600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WVardhaman is the brother of Vanaja. How is Vanaja’s father’s only daughter’s daughter related to Vardhaman?

Options:
1 « Niece

- % Sister
2 B Aunt

4 % Mother

Question Number : 13 Question Id : 16794319600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TIHTT TAT FT A5 g1 T & Oar T THAF 967 &7 927 97T ¥ g ag &g 27

Options:

1_;%!“
zwaﬁ

5 % =TT



Question Number : 14 Question Id : 16794319601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If § means —, # means —, @ means x and * means +, then what is the value of 2684(@3#56%77

Options:
1. ® 40

4. ¢ 30

Question Number : 14 Question Id : 16794319601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 16794319602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Suma cuts a cake into two halves and further cuts one half info smaller pieces of equal size. Each of the small pieces is
thirty grams in weight. If she has nine pieces of the cake in all with her. how heavy was the original cake?

Options:
LW 480 grams
240 grams

120 grams

180 grams



Question Number : 15 Question Id : 16794319602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 16794319603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A father is now two times as old as his son. Ten years back. he was three times as old as his son. The present age of the
son (in years) is:

Options:
1 ® 15

2.;;"2{}

M
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Question Number : 16 Question Id : 16794319603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2 « 20

o ® 25

g4 ® 30



Question Number : 17 Question Id : 16794319604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The pairs of words given in the options share a similar relationship except in one pair. Identify the odd pair of words.
Options:

1 « Spoon: Cut

-~ # Spanner : Grip

= » Sword : Slaughter

4 % Gun: Shoot

Question Number : 17 Question Id : 16794319604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 16794319605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the odd pair of numerals among the options.

Options:
1 ® T7:29

> % 6125

3« 4:13

Question Number : 18 Question Id : 16794319605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Rereat & &= =T & fvg JEr & 9g=9= F)

Options:

, 2 7:29
o % 625
2o 413
4% 9:37

Question Number : 19 Question Id : 16794319606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the next term in the below number series.

47. 28, 16,7
Options:
1. ® 10

Question Number : 19 Question Id : 16794319606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 16794319607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What should come in the place of question mark in the below series:

SSMH.2,AY
Options:
1 ® G
- ® i 4

2« D

4 % X

Question Number : 20 Question Id : 16794319607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Gereral Awarerness
Group Number : 2
Group Id: 167943745
Group Maximum Duration : 0
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Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Awarerness

Section Id : 167943810

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 1679431248
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 16794319608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one of the following was the capital of the kingdom of Kosala?

Options:
, « Ayodhya

- = Ujjain

% % Varanasi

4 % Kausambi

Question Number : 21 Question Id : 16794319608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 16794319609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In which language are the earliest collections of Buddha’s teachings?

Options:

, » Magadhi

- % Prakrit
3 o Pali

4 % Sanskrit

Question Number : 22 Question Id : 16794319609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 23 Question Id : 16794319610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who are known as the first Empire builders of India?
Options:

1 « Nandas

5 % Maurvans

5 % Sungas

4 = Guptas

Question Number : 23 Question Id : 16794319610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1« Sedl

Question Number : 24 Question Id : 16794319611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Bishkek is the capital of which country?
Options:

; = Kazakhstan

5 Kyrgyzstan

- = Tajikistan

4 R Uzbekistan

Question Number : 24 Question Id : 16794319611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 16794319612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a 'terrestrial planet'?

Options:



4 o Neptune

Question Number : 25 Question Id : 16794319612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 16794319613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Uttarakhand came into being in 2000 as the state of India.

Options:
25t

1%

M
®

2gth

Question Number : 26 Question Id : 16794319613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3ca@s 2000 H 99 & mé:mﬁwﬁr—rgml

Options:



3 v 279

Question Number : 27 Question Id : 16794319614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which Article guarantees protection of monuments and places and objects of national importance?

Options:
1 % Article 46

> o Article 49
z % Article 51

4 % Article 53

Question Number : 27 Question Id : 16794319614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 28 Question Id : 16794319615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which constitutional amendment raised the age of retirement of a High Court Judge from 60 to 62 years?

Options:



1 « 15th Constitutional Amendment Act, 1963
. 17th Constitutional Amendment Act. 1964
. 19th Constitutional Amendment Act. 1966

21st Constitutional Amendment Act, 1967

Question Number : 28 Question Id : 16794319615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| » 1537 Henferes weiteer sfafeTs, 1963

o » 1737 Haenfeer weies sfofaTs, 1964
. » 1937 Tenfeer weitus wfOfaTs, 1966

, » 2197 FauTAe Hetue sfafags, 1967

Question Number : 29 Question Id : 16794319616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which bank's punch line is, "Together we Prosper"?

Options:
1 % Allahabad Bank

- u Punjab National Bank

-  DBank Of Rajasthan

4 % Andhra Bank

Question Number : 29 Question Id : 16794319616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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4w 3T dF

Question Number : 30 Question Id : 16794319617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the 25th GST Council Meeting, held before the Budget 2018, rates for how many goods have been reduced?

Options:
1. ® 25

2_;_;.—"29
o ® 32

4 ® 36

Question Number : 30 Question Id : 16794319617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

goie 2018 & Wger e 25 F Srewdr afitwg @ 5% #, e awgat & & F A Hr w2
Options:

1 = 25
2. ¢ 29
T 32

g4 ® 36

Question Number : 31 Question Id : 16794319618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Gulabo Sapera is associated with which dance form?
Options:

1 % Pandavani



- w Sattriya

= % Chhau

4 « Kalbelia

Question Number : 31 Question Id : 16794319618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Temar TR R T ®9 E FE g 87

Options:

4 v FIeE T

Question Number : 32 Question Id : 16794319619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following is a famous flute player?

Options:
. = Tarun Bhattacharya

> % Ali Akbar Khan
-  Raghunath Seth

4 w vilayat Khan

Question Number : 32 Question Id : 16794319619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rrafaee & ¥ 7 vfg Tl s
Options:

| % 0T HETET




5 % el HHEL T

Slfra__.mzrﬂs

=
4 % TEATId @A

Question Number : 33 Question Id : 16794319620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"Khyal" is the Hindustani folk-dance drama or theatre of

Options:
1 % Uttar Pradesh

-  Rajasthan

- = Madhya Pradesh

4 % Andhra Pradesh

Question Number : 33 Question Id : 16794319620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

"= F Grgraer Al e I EHT 2
Options:

1 ® Jodl geer

g_ymﬂ
5 % FET 9

4 % HET WS

Question Number : 34 Question Id : 16794319621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

India finished at position in terms of medal tally (arranged as per number of gold medals) in the 2018 Asian Games.
Options:

1 % Tenth



> % Ninth
-  Eighth

4 % Seventh

Question Number : 34 Question Id : 16794319621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HRT 2018 & TiRIaTs Wel H gga ol (FA0T 9 HI HEAT & HJHR Taiedd) & AHS H
LT 9T 2|

Options:

3J3-117:>'A=|'

4_&‘3-‘9-'3%

Question Number : 35 Question Id : 16794319622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many total medals did India win in the 2018 Asian Games held in Indonesia?

Options:
1 ® 67

o« 69

Question Number : 35 Question Id : 16794319622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2R 7 3ATST 2018 TR Well # 9T # Fo fas ugw sha?

Options:

1 = 57




> « B9
ST ] ?2

g ® ?6

Question Number : 36 Question Id : 16794319623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the chemical formula for carbonic acid?
Options:

1« H2CO3

, x HCO;

5 % CO,HCO4

, x CHO;

Question Number : 36 Question Id : 16794319623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Fal1eieh TAS & [T TS HHAT 347 87

Options:

P H-CO45

, » HCO3

CO5HCO,

CHO3

Question Number : 37 Question Id : 16794319624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Where is the headquarter of Physical Research Laboratory in India?
Options:

Bangalore

3.9

> % Thumba



-z % Kolkata

4 « Ahmedabad

Question Number : 37 Question Id : 16794319624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT H AR HTHUTT JURTATS FT HEATT Fal g7

Options:

e Hm

Question Number : 38 Question Id : 16794319625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Union Government has signed $375 million loan agreement with Asian Development Bank (ADB) for Irrigation
Efficiency Improvement Project of which state?

Options:
| % Haryana

- #% Maharashtra

5  Madhya Pradesh

4 % Karnataka

Question Number : 38 Question Id : 16794319625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
#% WHER & 5w o & Bes garar gur IR & e offend few §% (ADB) F @y
$375 fAfoms & wHor gasita 9X A o &7

Options:



Question Number : 39 Question Id : 16794319626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where was the sixth Regional Comprehensive Economic Partnership (RCEP) Trade Ministers® Meeting held?

Options:
1 % Thailand

o  Singapore

% % Indonesia

4 = Malaysia

Question Number : 39 Question Id : 16794319626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T &S I9F HTEF ARG (RCEP) 19X ATNET Fr doF &gl Jafag &1 75 o2

Options:

Question Number : 40 Question Id : 16794319627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Union Government has constituted a 21- member advisory panel on Science, Technology and innovation called Prime
Minister’s Science, Technology and Innovation Advisory Council (PM-STIAC). headed by :

Options:
1 % Subhash Kak



> % AS Kiran Kumar

2 ® VK Saraswat

4 « KVijay Raghavan

Question Number : 40 Question Id : 16794319627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FE T 7 F T F FuTTHS TAE, SeaEERr it e geeer 9w
(PM-STIAC) arHeF e, diediffr 3T Fa=mR 9T AT 21- FeET GogsR Y9 & 76 T g

Options:
'\';FE-‘!TEI' chlch

..

U, vy, T AR
2_5:»‘- S

5 % AN . GREId

4 v . ST THEA

Arithmetic Ability

Group Number : 3
Group Id: 167943746
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability

Section Id : 167943811
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 19
Number of Questionsto be attempted: 19

Section Marks: 20

Display Number Panel: Yes



Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 1679431249
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 16794319628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

{0.2x0.3%0.173)+{(0.2+0.2 of 0.1-0.03+0.6 of 0.01) |

The value of 18:
0.12 of (0.0123—-0.004)+0.36%0.003

Options:
1 ® 0.1

Question Number : 41 Question Id : 16794319628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(0.2x0.3 XG.1?3}+[U.2 +0.2 of 0.1-0.03+0.6 of U.Gl}
0.12 of [D.G123—D.DD4}+D.36KD.DD3

FT AT &

Options:

4 1

Question Number : 42 Question Id : 16794319629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

V5+246-+5-246
(443-5,/2) x(3v2+4,/3)

= a\/2 + b+/3, Then the value of (a-b) is:

Options:



]
1

-« 15
1

Question Number : 42 Question Id : 16794319629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

V54246 -/5—26
(44/3-542 ) (34/2+443)

Options:
1

= av2+bv3 2 ar (a-b) F HIT &

L] =

Question Number : 43 Question Id : 16794319630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The value of (? %ﬂf%)+(15 % Df%)’“ %

e PR P Y 9

Options:

5
1,—-“36

O] e



Question Number : 43 Question Id : 16794319630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

(Tzﬂf;—l)+(_15§of%)x1§ .
Tl iG] T
Options:

5
1 o 36

4
9

SO e

Question Number : 44 Question Id : 16794319631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Let x be the least number which when divided by 21, 33, 35 and 55, leaves a remainder of 3 in each, but is exactly
divisible by 67. What is the sum of the digits of x?

Options:

1 ® 12

o« 15

Question Number : 44 Question Id : 16794319631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



AT Fr x IF BIET F ©IEr §ET 7, 5 =9 21, 33, 35 3 55 @ &ET @I A0, O v3e gar H
NG 3 BT &, Wikl x, 67 ¥ qUIA: TIIST gl Xx F I N T FT 82

Options:

1 * 12
o & 15
z & 16

g ® 1?

Question Number : 45 Question Id : 16794319632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The price of oil is increased by 20%. However, the expenditure unit increases by 10% only. What is the percentage
increase or decrease in consumption?

Options:
; # 10%, increase

5 % 10%, decrease

1 .
8 3 E%‘ increase

1
8 =%, decrease
4 9 3

Question Number : 45 Question Id : 16794319632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o & Heg H 20% H i F 21 ST 5H W U T A Haw 10% # IR g gl O H e F
forarer wfererar r Jf ar w0 282

Options:

|« 10%, 3R

o x 10%,

1
8 lm, g

=

_8%%,3@

4



Question Number : 46 Question Id : 16794319633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Income of A is equal to x% of income of B and expenditure of A is 80% of B’s expenditure. If A’s income is equal to
00% of B's expenditure and the ratio of the savings of A to that of B is 1:2, then the value of x is:

Options:
1 ® 60

o R 70
3« 75

g4 * 80

Question Number : 46 Question Id : 16794319633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT ATB R NTF % FRTEIMNAFTTTB F 3T F 80% F 5T &1 I A $r 377 B
T % 90% F WAL g, INAF Fud A B F a=ma F 1: 2 & A g, a x F A &

Options:

1 ® 60
o ® 70
v 75

4 & a0

Question Number : 47 Question Id : 16794319634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Anvi sells her watch at a loss of 5%. If she had sold it for ¥ 255 more, she would have gained 10%. What will be the
selling price, if she sells it a gain of 8%?7

Options:

;% Z1600
5 « 1620
2 % 1650

4 % Z1680



Question Number : 47 Question Id : 16794319634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HAST HIAT TE 5% g TR TG g1 T 9§ FHH < 255 H{OF 9K A=A aF 3/ 10% F e g
Ifg 38 @Fr FY 8% TS T A=Y g, A FHH AT HeT FAT geT?

Options:

% T 1600
> v T 1620
- » T 1650

. % T 1680

Question Number : 48 Question Id : 16794319635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A shopkeeper offers discounts on the marked price on the bases of the number of articles purchased. He gives 10%

discount when 5 articles are purchased and 12 i% discount when 8 articles are purchased. If the profit in both cases is
equal. then an article is marked at what percent above the cost price?
Options:

;% 12%

Question Number : 48 Question Id : 16794319635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TF GHEER WG S aTell TEg3T $ & & U 9 T3 F HFT qeg T e Sar g1 9 5
TEC T ST B, o 97 10% 1 ge &ar 1 AR 3 8 Irge whdr S ¥ A 9w 122%

H g oo €| Tig St TPufaat # o1 WA &, df U 98 H 38S H4AeT ¥ fhad s
gfaerg W 3ifFa forar mmar 272

Options:

% 12%

,  15%

. = 18%



4 v 20%

Question Number : 49 Question Id : 16794319636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
There are three positive numbers. One-third of average of all the three numbers is 8 less than the greatest number of the
three numbers. The average of lowest and the second lowest number is 8. The greatest number is:

Options:

Question Number : 49 Question Id : 16794319636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T UATHF TEAC §1 AT F 3T T v QEE 398 © OO 9 §EA ¥ 8 FF 1 TIY oIy gur
3O 3 3o 95 TEAT &7 AtEa 8 ¥ ged ¥ TEdm 2

Options:

1 ® 9

2-&310
3¢ 11

g4 13

Question Number : 50 Question Id : 16794319637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A certain sum was lent for 3 years at 5% per annum, compound interest. If the interest for the third year is 21 more

than that for the second year, then the same sum will amount to what in 2 % year at double the earlier rate. interest
compounded yearly? (nearest to one I)

Options:
;& Z10076
5 o T 10067

s % ¥10176



4 % 210167

Question Number : 50 Question Id : 16794319637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TR 5% AWH & W 3 99 & T THfE T T 3R o 5| ARG AW IT F AH gIL I F
m@fmmﬁmé‘,a‘rmmﬁhnga&ﬁm@ﬁmmﬁmﬁwmﬁm,aﬁ

= I TafEa & 2 R 1 & Rweay)
Options:

. % T 10076
. « T 10067
- = T 10176

. % T 10167

Question Number : 51 Question Id : 16794319638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two numbers are such that their mean proportional is 6 and third proportional is P.Di . What is the difference between
the numbers?
Options:

1_&4-2

P
b
[FN]

o=
%
LA

Question Number : 51 Question Id : 16794319638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i i 1 i ioE
ST HEIC W TR § T IAH HEAAI 6 § TUT FAAArer 20, §l HEAIHT A IR E:

Options:

1_-5-562
2_-5-563

3.-5-:34



44 O

Question Number : 52 Question Id : 16794319639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

One year ago, the ratio of salaries of A and B was 4 : 5. The ratio of their individual salaries of last year and present year
are 3 : 4 and 2 : 5 respectively. If their total salary for the present year is ¥ 256800, then what is the present salary of B?

Options:
1 % Z 157600

5 % % 172000
s % Z176800

4 « ¥ 180000

Question Number : 52 Question Id : 16794319639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U& I TEeLA T B F 3 H 4 1 5 & 3T ol Roe a¥ Fur a9Ae a9 # 36 egfeand
H AT FA: 3 0 4 T 2 1 5 | A TAAA a9 H 3700 For 3 T 256800 §, aF B Fr F0 AT ¥
T 2l

Options:

% T 157600
, % T 172000
- = T 176800

4 v T 180000

Question Number : 53 Question Id : 16794319640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ABCD is a quadrilateral in which AB =9 cm, BC =40 cm. CD =28 cm, and AD = 15 cm. If AC =41 cm, then the area

(in cm® ) of the quadrilateral is:

Options:
1 ® 270
5 % 282



Question Number : 53 Question Id : 16794319640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ABCD ve =Igal+f ¢, f3@# AB = 9 cm, BC = 40 cm, CD = 28 cm 3K AD = 15 cm 7l %

AC = 41 cm g, @ Ig8< & &i5%d (cm? #) &
Options:

, % 270

5 % 282

- v 306

4 % 390

Question Number : 54 Question Id : 16794319641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The radius and height of a cone are in the ratio 4:3. If the area of the base is 154 cm®, then its curved surface area (in cm?)

- ; _ 22
will be: (Taken = )
Options:

1 % 183.6
5 o 192.5

s % 186.8

4 % 1982

Question Number : 54 Question Id : 16794319641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

et ofg &1 e 3t =2 7 4 ¢ 3 F7 FFIA B G 3T YR F & G 1564 am® B, A SHH
IF JESIT &R (cm? ﬁ}wﬁ?ﬁ?(n=223ﬁﬁ'@)

7
Options:

| % 1836

- v 192.5



2 % 186.8

. % 1982

Question Number : 55 Question Id : 16794319642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A 100 m long train takes 7.2 seconds to cross a person walking at 5 knv'h in the direction opposite to that of the train.
What is the speed (in km/h) of the train?

Options:
1. ¢ 45

> R 48

[
g{
LAy
o

-8
g{
LAy
=

Question Number : 55 Question Id : 16794319642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
100 meaRN TF o, Tlia R A S kmh AT T I W ok =IFT & 7.2 T § OR W "
g1 YerEmEr #r At (km/h ®) @ 87

Options:

1 « 4b
o ® 48
=z ® 50

4 ® 54

Question Number : 56 Question Id : 16794319643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ravi rowed a certain distance downstream in ?g hours while it took him 123 hours to row the same distance upstream.
To make the two-way journey in still water, how many hours will it take him?
Options:
18=
2

i

o R 18



Question Number : 56 Question Id : 16794319643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

URT % e T gU U i gt @ A & 72 6t # aqw e, @t sl & gh @ o F
Sfeger ST gU 12 - B & aw R | o # s & gf W S aur f sE v W A
A 3W =T @77 wee?

Options:

1% o

N

3

182 ¥
4
4 % 20 ©E

Question Number : 57 Question Id : 16794319644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i : b 1
3 men and 8 women together can do a piece of work in 16 days whereas 6 men and 7 women can do it in 12 = days.
How many women should assist 14 men to complete the same work in 8 days?

Options:

1_&53

5}
b
LAy

Question Number : 57 Question Id : 16794319644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3 &9 AT 8 AigaT v FH F iy fHeet 16 ffm # 9 & v § @ Fr 6 3 3R 7 Afgen

W FH F 122 BE F 9@ TS §| 14 T H e AR F e H @egwar @ 3N
$HT FH F 8 feF A U Fw 87



Options:
1 ® 3

> o 4
3_&%5

4 % 6

Question Number : 58 Question Id : 16794319645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Working together A and B can complete a work in 5 days. If A had worked twice as fast the work would have been
completed in 4 days. A starts the work with his normal capacity and leaves afier 5 days. The remaining work will be
completed by B in:

Options:
1 % 4 days

- = 8days

g5 o O days

4 = 10days

Question Number : 58 Question Id : 16794319645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ty fFeT A 3R B 58 ©F 1R #1 5 Re F 9 #d 8] PR A R G ® FH HaT af I8 FH
4 &7 & WaHA & AA| A AT WIIRUT 8THAT § HH &I =16 HaT g AR 5 B & a8 FH o5
ammﬁmrg&rra:mﬂ%?r%ﬁﬁ'{{rm?

Options:

1 = 4 ﬁﬂ-
o W 8 ﬁﬂ-
s v 5 e

Sub-Section Number: 2



Sub-Section Id: 1679431250
Question Shuffling Allowed : Yes

Question Id : 16794319646 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Cesticn Label | Comprehension

Study the following graph and answer the two questions based on it.

Number of trees planted by NGOS
in 6 cities in the year 2016

i
=]
=]

=)
w
= 300 - .
§ g
(=1 g
n 200 = __\_.d-ei’/-of—’.-'—' -'--\-.;_';b_'%'.l'f g _——
w R— iy -"'-%.u-ﬁ-.-
E =
= 1
= L
E 0
E A B C O E F
=
Cities
e Z
Sub questions

Question Number : 59 Question Id : 16794319647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ratio of the number of trees planted by X’ in
cities A and D together to that planted by *Y" in
cities A and F together to that planted by ‘Z’ in B
and D together is:

Options:
1 ® ¥ et e |

oo 370617

o
i
L
-.5-\
e |

Question Number : 60 Question Id : 16794319648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The difference between the total number of trees
planted by ‘X" and “Y” in all the six cities is
approximately what percent of total number of trees
planted by ‘Z’ i cities B, E and D?

Options:



4 v 43%

Question Id : 16794319646 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Cuestion Label © Comprehension

orataag arfersr 3% 2016 3T 2017 & T F9=r
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Sub questions

Question Number : 59 Question Id : 16794319647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

X EaNT AeT A AR D H T AT For 95T H
TET, Y gaN e A 3R F # oFTT AT &
ﬁs‘ra?rm,a-ﬁ?ZE@mamBaﬁTDﬁ
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Options:

22357



o367
2% 4:6:9

4% 5 :6:7

Question Number : 60 Question Id : 16794319648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tefr oF T H X' HR 'Y g@RT e AT 9
T ol TEAT F €19 AR, B, E IR D W A
'Z' EERT ST AT I B Ho HET N fhaar
gfaera 82

Options:

. % 34%

> % 38%

z % 41%

4 « 43%

rereral English

Group Number : 4

Group Id : 167943747

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

erleral English

Section Id : 167943812
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16

Number of Questionsto be attempted: 16



Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 1679431251
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 16794319649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option that comes closest in meaning to the given word.

CONFINE
Options:
1 % Detain

5  lmprison

5 % Impose

4 % Obstruct

Question Number : 61 Question Id : 16794319649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option that comes closest in meaning to the given word.

CONFINE
Options:
1 % Detain

-  lmprison

5 % lmpose

4 % Obstruct

Question Number : 62 Question Id : 16794319650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option that comes closest in meaning to the given word.

BRISK



Options:
1 +« Hurried

> % Slow

- = Clumsy

4 ® Anxious

Question Number : 62 Question Id : 16794319650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option that comes closest in meaning to the given word.

BRISK
Options:
1 +« Hurried

> % Slow

- » Clumsy

4 ® Anxious

Question Number : 63 Question Id : 16794319651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option that is opposite in meaning of the given word.

TRIVIAL
Options:
1 % Minor

> % Useful

-  Significant

4 % Enormous

Question Number : 63 Question Id : 16794319651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is opposite in meaning of the given word.

TRIVIAL
Options:
1 % Minor

> % Useful

-  Significant

4 % Enormous

Question Number : 64 Question Id : 16794319652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option that is opposite in meaning of the given word.

PROLONG
Options:
1 ® Contract

- % Weaken

5 » Compress

4 « Shorten

Question Number : 64 Question Id : 16794319652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option that is opposite in meaning of the given word.

PROLONG
Options:
1 % Contract

- % Weaken

5 % Compress

4 « Shorten



Question Number : 65 Question Id : 16794319653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word/phrase that best completes the sentence.

He suspected a double meaning in her words. but the thought.
Options:
1 « dismissed

> % distanced
3 % dissolved

4 = discharged

Question Number : 65 Question Id : 16794319653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word/phrase that best completes the sentence.

He suspected a double meaning in her words, but the thought.
Options:
1 + dismissed

> % distanced
z % dissolved

4 w discharged

Question Number : 66 Question Id : 16794319654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word/phrase that best completes the sentence.

No one expects you to learn the of the trade on your first day at work.
Options:
1 # inand out

- % outand out

= « ins and outs



4 % outand about

Question Number : 66 Question Id : 16794319654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word/phrase that best completes the sentence.

No one expects you to learn the of the trade on vour first day at work.
Options:
1 % in and out

- % outand out
3 « ins and outs

4 % outand about

Question Number : 67 Question Id : 16794319655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option that best captures the meaning of the underlined phrase.

My car broke down on my way to the meeting.
Options:
, = Tranoutof petrol

- % met with an accident

- u started crying

4 « Stopped working

Question Number : 67 Question Id : 16794319655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option that best captures the meaning of the underlined phrase.

My car broke down on my way to the meeting.
Options:
, = ranoutof petrol



> % met with an accident

- » started crying

4 « Stopped working

Question Number : 68 Question Id : 16794319656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate article to complete the sentence.

Vysakh was found to possess ~ required qualification for the job.
Options:

1 % 2

i #® dn

o o the

4 % No article

Question Number : 68 Question Id : 16794319656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate article to complete the sentence.

Vysakh was found to possess required qualification for the job.

Options:

i

1 # 4
o ® dn
3 o the

4 # No article

Question Number : 69 Question Id : 16794319657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate option to complete the sentence.

The man was accused stealing his emplover’s laptop.

Options:



1 ¢ of
> % with
- % for

4 ® on

Question Number : 69 Question Id : 16794319657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate option to complete the sentence.

The man was accused stealing his employer’s laptop.
Options:
1 o of

> % with
z % for

4 % on

Question Number : 70 Question Id : 16794319658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate option to complete the sentence.

Double glazed windows have two panes of glasses and air between them, preventing escape of heat
Options:
, = had trapped

- « 1s trapped

5 = Was trapped

4 # Was being trapped

Question Number : 70 Question Id : 16794319658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Choose the most appropriate option to complete the sentence.

Double glazed windows have two panes of glasses and air between them, preventing escape of heat
Options:
, = hadtrapped

-  1istrapped

5 = Wastrapped

4 = Was being trapped

Question Number : 71 Question Id : 16794319659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate phrase to complete the sentence.

If my husband us a big dinner tonight, T would have suggested that we go to that nice [talian restaurant.
Options:
; = wouldn't be making

- % hadn’t made

5 o wasn’t making

4 = hadn’t been making

Question Number : 71 Question Id : 16794319659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate phrase to complete the sentence.

If my husband us a big dinner tonight, I would have suggested that we go to that nice [talian restaurant.
Options:
, = wouldn't be making

> % hadn’t made
5 « Wasn't making

4 w hadn’t been making



Question Number : 72 Question Id : 16794319660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate phrase to complete the sentence.

Ravi wondered giving her odd looks.
Options:
; % Wwhy were they

-  Why they were

- u they were why

4 = they why were

Question Number : 72 Question Id : 16794319660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate phrase to complete the sentence.

Ravi wondered giving her odd looks.
Options:
; % Wwhy were they

-  Why they were

- u they were why

4 = they why were

Question Number : 73 Question Id : 16794319661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate phrase to complete the sentence.

I persuaded the boys the room before the teacher entered.
Options:
1 % leave

> % left



3 o toleave

4 = leaving

Question Number : 73 Question Id : 16794319661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the most appropriate phrase to complete the sentence.

I persuaded the boys the room before the teacher entered.

Options:
1 % leave

> % left
3 o to leave

4 = leaving

Question Number : 74 Question Id : 16794319662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the sentence that is grammatically well formed.
Options:

. « Who do you think believes the story that the man stole the painting?

> % Who do you think believes the story that stole the painting?

= % What do you think believes the story that man is?

4 # Who do you think believes the story who the man stole the painting?

Question Number : 74 Question Id : 16794319662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the sentence that is grammatically well formed.
Options:

. « Who do you think believes the story that the man stole the painting?

> % Who do you think believes the story that stole the painting?



 What do you think believes the story that man is?

. Who do you think believes the story who the man stole the painting?

Question Number : 75 Question Id : 16794319663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the sentence that is grammatically well formed.
Options:

, w» Ifyouwant to retire early, then you start saving now.

o  1f you want to retire early. you need to start now

= # Youwant to retire early. if you start saving now.

4 = If youwant to retire early. when you start saving now.

Question Number : 75 Question Id : 16794319663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the sentence that is grammatically well formed.
Options:

, w» Ifyouwant to retire early, then you start saving now.

- I you want to retire early. you need to start now

- % You want to retire early. if you start saving now.

4 = If youwant to retire early. when you start saving now.

Sub-Section Number: 2
Sub-Section Id: 1679431252
Question Shuffling Allowed : Yes

Question Id : 16794319664 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label | Comprehension



Read the passage carefully and answer the questions that follow.

In Japan, people often refer to traffic lights as being blue in colour. And
this is a bit odd. because the traffic signal indicating ‘go’ in Japan is just
as green as it is anywhere else in the world. So why is the colour getting
lost in translation? This visual conundrum has its roots in the history of

language.

Blue and green are similar in hue. They sit next to each other in a
rainbow, which means that, to our eyes, light can blend smoothly from
blue to green or vice-versa, without going past any other colour in
between. Before the modern period. Japanese had just one word. Ao. for
both blue and green. The wall that divides these colours hadn’t been
erected as yet. As the language evolved, in the Heian period around the
year 1000, something interesting happened. A new word popped into
being — midori — and it described a sort of greenish end of blue. Midori
was a shade of gqo. it wasn’t reallv a new colour in its own right.

One of the first fences in this colour continuum came from an unlikely
place — crayons. In 1917, the first crayons were imported into Japan,
and thev brought with them a way of dividing a seamless visual spread
into neat. discrete chunks (colours). There were different crayons for
areen (midori) and blue (ao). and children started to adopt these names.

Sub questions

Question Number : 76 Question Id : 16794319665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The signal for ‘go’ in traffic in Japan is the colour:
Options:

1 % Blue

o o Green

- % Bluish green

4 % Greenish Blue

Question Number : 77 Question Id : 16794319666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word ‘conundrmim’ means:
Options:

, % Spectrum



> w Spread

- % blend

4 « confusion

Question Number : 78 Question Id : 16794319667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why was green taken for blue in Japan in early times?
Options:

. « They had only one word ‘a0’ for blue and green

- % They have two words ‘midori’ and ‘a0’

- % Ihey did not have crayons in that period
In rainbows in Japanese, blue and green blended into
. each other

4 %

Question Number : 79 Question Id : 16794319668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the sentence ‘The wall that divides these colours
hadn’t been erected as yet’, what does ‘the wall’ refer
to?

Options:

] ® Crayons

> o Words
%z % Vision

4 # Fences

Question Number : 80 Question Id : 16794319669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two distinct colours ‘midori’ (green) and ‘ao’ (blue) came

into existence in:

Options:



, w pre modern Japan

- % the Heian Period

5 o 1917 with crayons

4 = the pre historic period

Question Id : 16794319664 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label @ Comprehension

Read the passage carefully and answer the questions that follow.

In Japan, people often refer to traffic lights as being blue in colour. And
this is a bit odd. because the traffic signal indicating ‘go’ in Japan is just
as green as it is anywhere else in the world. So why is the colour getting
lost in translation? This visual conundrum has its roots in the history of

language.

Blue and green are similar in hue. They sit next to each other in a
rainbow, which means that, to our eyes, light can blend smoothly from
blue to green or vice-versa, without going past any other colour in
between. Before the modern period. Japanese had just one word. Ao, for
both blue and green. The wall that divides these colours hadn’t been
erected as yet. As the language evolved. in the Heian period around the
yvear 1000. something interesting happened. A new word popped into
being — midori — and it described a sort of greenish end of blue. Midori
was a shade of o, it wasn’t reallv a new colour in its own right.

One of the first fences in this colour continuum came from an unlikely
place — crayons. In 1917, the first crayons were imported into Japan.
and thev brought with them a way of dividing a seamless visual spread
into neat, discrete chunks (colours). There were different crayons for
areen (midori) and blue (ao). and children started to adopt these names.

Sub questions

Question Number : 76 Question Id : 16794319665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The signal for ‘go’ in traffic in Japan is the colour:

Options:
1 ®% Blue

o o Green



= u Bluish green

4 % Greenish Blue

Question Number : 77 Question Id : 16794319666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word ‘conundrmm’ means:
Options:

, % Spectrum

-~ # spread

=z % blend

4 « confusion

Question Number : 78 Question Id : 16794319667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Why was green taken for blue in Japan in early times?
Options:

, « They had only one word *ao’ for blue and green

- % They have two words ‘midori’ and ‘a0’

- % [Ihey did not have crayons in that period

In rainbows in Japanese, blue and green blended into
. each other
4. E

Question Number : 79 Question Id : 16794319668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the sentence ‘The wall that divides these colours
hadn’t been erected as yet’, what does ‘the wall’ refer
to?

Options:

| ® Crayons

> o Words



3 % Vision

4 % Fences

Question Number : 80 Question Id : 16794319669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two distinct colours ‘midori’ (green) and ‘ao’ (blue) came

into existence in:
Options:

, w premodern Japan

- % the Heian Period

5 « 1917 with crayons

4 = the pre historic period

Zeneral Hindl

Group Number : 5
Group Id : 167943748
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
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Section Id : 167943813
Section Number : 1
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Sub-Section Number: 1
Sub-Section 1d: 1679431253
Question Shuffling Allowed : Yes

Question Id : 16794319670 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (81to 85)
Juestion Label - Comprehension
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Sub questions

Question Number : 81 Question Id : 16794319671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

GIOERET Fed H hHer T=7 oar?

Options:

o W mm

Swm

L v TEANSRAT HR FTFdHar grar

Question Number : 82 Question Id : 16794319672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
eIt 9 & wHiear H
Options:

- w JURTEET TTT



4w HTES AFAT

Question Number : 83 Question Id : 16794319673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Options:

1 & 1eEHdElg
5 o BlONElG
3.$3m
4 = T HRET

Question Number : 84 Question Id : 16794319674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT T HEE W dTel Hia had 372
Options:

| v THETSSE T
5w HANIRNUERT FEamT
3 ® :Fﬁ?:ﬂﬂﬁﬁww

4w HoEEr EErym

Question Number : 85 Question Id : 16794319675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wﬁaﬁﬁﬂﬂmﬁgﬁﬂ

Options:

% 1926

- v 1936



5 % 1946

, = 1956

Question Id : 16794319670 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (81 to 85)
Juestion Label - Comprehension

e B T AT H e YO T WAl & 3ca} AleTl

TIIERET Hed H OHETShdT AR dASFasar gar &1 T o7
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Sub questions

Question Number : 81 Question Id : 16794319671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SIOTERT e H hger =7 oar?

Options:

| % “hael HIATSET

o % whad JATFdRdT
gwm

4 v TETSEr 3R dafEasar ast

Question Number : 82 Question Id : 16794319672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST 9FIT & FiEal H g
Options:



o x JORTEET TTT

4w OTTEe AFET

Question Number : 83 Question Id : 16794319673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Options:

|« T
o o EBlelldlg
5 % FAETEG
4 % TG FHiEdT

Question Number : 84 Question Id : 16794319674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HHATSFAT T HEE T 1o e had 372
Options:

\ v FASEE e

. % AANSLYUETET fEaERYRT
. » Wledaer FaRuRT

4 % Shomarar fEERaNT

Question Number : 85 Question Id : 16794319675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wﬁ?@%ﬁmaﬁmﬁﬁ?ﬁ?

Options:

% 1926



5 » 1936
5 % 1946

, = 1956

Sub-Section Number : 2
Sub-Section Id: 1679431254
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 16794319676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1@*&@-
i

g -
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Question Number : 86 Question Id : 16794319676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T=afET & #iF 71 o acg7 22

Options:
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s » HOR
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Question Number : 87 Question Id : 16794319677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



forafafla & 923 9= #ia a7 &7
Options:
1.« 9097

4_2&314_'#

Question Number : 87 Question Id : 16794319677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T=ea & a57 =g FiF T 37
Options:
1.« CIEl

4_5331?#

Question Number : 88 Question Id : 16794319678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tratafaa # aifge=s a1 g @ 87

Options:

1w BIRR

4% TS

Question Number : 88 Question Id : 16794319678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Steam engine played a crucial role in the Industrial Revolution. Which one out of the following is INCORRECT about
the steam engine?
Options:

, = The design of steam engine was prepared by Thomas Newcomen.



-  Pre modern design of steam engine was prepared by Thomas Papin.

5 = By 1769, James Watt had a patent for his improved design.

, = He entered into a long and profitable partnership with industrialist Matthew Boulton.
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Correct Marks: 1 Wrong Marks: 0.25
Why did Industrial revolution start from Britain?
Options:

, = Occurrence of the Agricultural Revolution of the eighteenth century.

2 #
Britain had a ready supply of capital for investment in the new industrial machines and the factories.

- » DBritain had a rich supply of the important mineral resources such as coal and iron ore.

4  Allof the given options.
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In 1804, pioneered the first steam powered locomotive on an industrial rail line in southern Wales.

Options:
1 % James Watt

-~ # George Stephenson

z « Richard Trevithick

5 ® Edmund Cartwright
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The New Deal policy was introduced in USA by for various reforms after economic depression of 1929.



Options:
, » Calvin Coolidge

» « Franklin D. Roosevelt

- u Herbert Hoover

4 R Harry S. Truman

Question Number : 104 Question Id : 16794319694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1929 % = & & ag e gul & v §g#a =0 330w # 73 F3-wg Aifg #=1
gamr g2 T T o

Options:

> o heRiolT 3T, Foldee
e TR
, % 80 TH. T
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Early 1920s was a crucial decade for the rise of industrial organisation in colonial India. Which of the following
statement is/are FALSE?
Options:
1,
Various capitalists like G.D. Birla and Purshottamdas Thakurdas to establish a national level organization of Indian
commercial. industrial and financial interests to be able to effectively lobby with the colonial government.

S
This effort culminated in the formation of the Federation of Indian Chambers of Commerce and Industry (FICCI) in
1927, with a large and rapidly increasing representation from all parts of India.

3 *
The FICCI was soon recognized by the British government as well as the Indian public in general, as representing the
dominant opinion as well as the overall consensus within the Indian capitalist class.

4 « None of the given options



Question Number : 105 Question 1d : 16794319695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1920 & g AR aRg # i Tea & 367 & v Fgeayr s o1 A=ff@a # &
P TT FUF Tad 27

Options:
1, #®

SrE. =% Rgar At EicarEey g S FF g Sa aifoteas, deate At el
fear Fr TF TET T F TISA FT T F 0T g 79 T HHEE 5 F 9y aeid +:14
T geTH 2N

o &

I 9UTH ¥Rd F T fTEEl # 98 T W 3K O ¥ 9o yaaea % 3y 1927 H FERe A%
e ST A% FHY Us g5E () & e # AT ga

I ®

fierhr (FICCI) #F Sog & ffeer ween & Fr-arer sREw ST g Aaar g off, #2979
I F FU-ATYT FAT TIEFATT F ARAT TR T97 5 GiaAoed R T o)

, v BT T fEwent & FF A6

Question Number : 106 Question 1d : 16794319696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT correct about the All-India Kisan Congress?
Options:

1 %

It was established in Lucknow in April 1936 which later changed its name to the All-India Kisan Sabha.

2%
Swami Sahajanand and N.G. Ranga were elected the President and the General Secretary respectively.

5  Dhe first session was greeted in person by Mahatma Gandhi.

4 #
The Conference resolved to bring out a Kisan Manifesto and a periodic bulletin edited by Indulal Yagnik.
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Large parts of East Bengal were engulfed by agrarian unrest during the 1870s and early 1880s. Which one of the
following is NOT true with regards to the unrest?

Options:
; w» Theunrest was caused by the efforts of the zamindars to inflate rent beyond legal limits.

2 ®

The unrest was caused by the efforts of the zamindars to prevent the tenants from acquiring occupancy rights under Act
X of 1859.

z

The zamindars tried to achieve through illegal coercive methods such as forced eviction and seizure of crops and cattle
as well as by dragging the tenants into costly litigation in the courts.

4. v
In May 1873, an agrarian league or combination was formed in Yusufshahi Parganah in Pabna district to accept the
demands of the zamindars.
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Who argued that the ‘general will’ should govern society?

Options:
1 % John Lock

> # Montesquieu

= « Rousseau

4 % \oltaire
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The fundamental fiscal problem in France was structural. Which statement about it is INCORRECT?
Options:
1 ®

Neither the clergy. who owned about 10 percent of the land, nor the nobility, who owned between 25 to 30 percent of
the land, paid any tax.



2 %
In many areas, tax farmers collected the taxes and forwarded only part of the money to the government.

-
War of the Austrian Succession (1740-48) and the Seven Year’s War (1756-63) helped to bankrupt the state

4 &
Louise XVI first appointed Necker, then Turgot as the finance minister to improve the financial condition of France
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Which pair is correctly matched with regards to French Revolution, 17897

Options:
; = 1May 1789: Estates General assembles

> w 15 June 1789: Adoption of title of “National Assembly™ by the Third Estate

5 = 15 July 1789: Dismissal of Necker

4 w 2 November 1789: Nationalisation of the property of the church
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The declaration of ‘the rights of man and of citizens’ by the French Constituent Assembly on , is one of the most
significant events of the French Revolution.

Options:
1. % 21 June 1789

¢ 14 July 1789
26 August 1789

4 % 21 December 1791
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Which of the following options is true of the revolt of 18577
Options:

. « ©On29March 1857, Mangal Pandey fired on his officers at Barrackpore

o ®
On 10 May 1857. the sepoys at Meerut who refused to use the cartridges. were sentenced to ten years’ imprisonment

T =
On 11 May 1857, three Indian regiments shot their officers, broke open the prisons and released their companions

4 % On 12 May 1857, they marched off to Delhi
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Which East India Company official remarked about the contribution of Indian rulers that these rulers and chiefs “acted
as the breakwaters of the storm which would have otherwise swept us in one great wave.”

Options:
, = Henry John Temple

> % Lord Disraeli

-  Lord Canning



4 % John Russell
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When did Lord Canning proclaim peace and finally suppress the 1857 revolt?

Options:
1 % 23 June 1858

> % 30 June 1858

. « 1July 1858

4 » 5 7Tuly 1858
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The drain theory had an important role in the rise of economic nationalism in colonial India. Which statement is FAL.SE
about the theory?

Options:
, = Theacknowledged high-priest of the drain theory was Dadabhai Naoroji

o #
It was in May 1867 that Dadabhai Naoroji put forward the idea that Britain was draining and ‘bleeding’ India.

3 #
The drain. Naoroji declared. was the basic cause of India’s poverty and the fundamental evil of British rule in India.

4 « The theory questioned the very economic exploitation by Indian capitalists
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Which of the following statements is/are correct about the partition of Bengal. 19057
Options:

, = The decision to partition Bengal was announced on 19 July. 1905.



o
On September 1. the Government announced that partition was to be effected on 16 October 1905.

3 #
The day partition took effect - 16 October. 1905 - was declared a day of mourning throughout Bengal.

i o All of the given options
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Mahatma Gandhi began fast unto death onwards 20 September 1932 because of

Options:
1 % the Poona Pact

» o the Communal Award
- % failure of the second round table

, w re-launching of Civil Disobedience Movement
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Question Number : 118 Question Id ;: 16794319708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Bandi Jiwan’, which served as a textbook to the revolutionary movement, was written by
Options:

 Ramprasad Bismil

e o

-~ # Jogesh Chatterjee

-  Sachindranath Sanyal

4 # Rajendra Lahiri
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Question Number : 119 Question Id : 16794319709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the president of the Indian National Congress during independence in 19477

Options:



1 % Jawaharlal Nehtru

- = Rajendra Prasad

5 « J.B. Kriplani

4 % Moulana Abul Kalam Azad
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Question Number : 120 Question Id : 16794319710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is FAL SE about the Indian National Congress’ Lahore session held in December 19297
Options:

, = Jawaharlal Nehru was the president of session

- w The session passed the resolution of Purna Swarajya

3.¢
The session adopted the non-violent methods of Non-cooperation and Civil Disobedience for the goal of Dominion Status

4% None of the given options
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Question Number : 121 Question Id : 16794319711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one out of the following statements is INCORRECT about the idea of Igbal’s Muslim state in colonial period?

Options:



, w» He voiced his idea in December 1930 at the All India Muslim League

2 ®

His idea of the Muslim state was one that was within India and restricted to Muslim majority areas in the north-western
provinces .

-  lgbal declared Indian Muslims as a ‘nation’

4 *®

He initially called for a state based on the territorial amalgamation of the Punjab, the North-Western provinces, Sind and
Balochistan.
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Question Number : 122 Question Id : 16794319712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was famous as an ‘Ambassador of Hindu-Muslim Unity’?

Options:
, = Sir Syed Ahmad Khan

- % Moulana Abul Kalam Aazad
3 « Muhammad Ali Jinnah

4 = lgbal
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Question Number : 123 Question Id : 16794319713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the 1937 annual session of Muslim League held in Lucknow, Jinnah declared that there were three entities in India;

Options:

, = The Hindus, the Muslims and other religious minorities

- = The Congress, the Muslim League and Dr. Ambedkar’s followers

=  The Congress, The British. and the Muslim League

4 # TheHindu. The British, the religious minorities
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Question Number : 124 Question Id : 16794319714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the following Governor Generals of India in ascending order.

Options:
| o Lord Amherst, Lord William Bentinck. Lord Auckland. Lord Ellenborough

58 Lord William Bentinck, Lord Auckland, Lord Ellenborough. Lord Amherst

z R Lord Auckland, Lord Ellenborough, Lord Amherst, Lord William Bentinck

4 % Lord Ellenborough, Lord Auckland. Lord Amherst. Lord William Bentinck
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Question Number : 125 Question Id : 16794319715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Lenin’s ‘Letters from Afar’ were written from in March 1917.

Options:
| % Germany

-~ % France

3 o Switzerland



4 % Vienna
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Question Number : 126 Question Id : 16794319716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Provisional Government after the February 1917 revolution in Russia failed to spread unrest among peasants
because:

Options:
, = The Provisional Government was run by the less popular group, the Mensheviks

> &R
Peasants realised that the Provisional Government was not serious about solving their problems

- » [Ihe peasants’ revolts were increasing day by day

Lo All of the given options
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Question Number : 127 Question Id : 16794319717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Bolsheviks’ victory was not complete as long as the Winter Palace remained in the hands of the Provisional
Government because:

Options:

. = Itwas a chief treasury office

-  ltwas the office of Kerensky government

= % It was the main centre of the Soviet of Peasants

4 = It was main office of the Soviet of Petrograd

Question Number : 127 Question Id : 16794319717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wﬁﬁ?ﬁmﬁﬁiﬁﬂﬁﬁﬁﬁﬁﬁﬁmmwwﬁﬂ T &F Tt § F @ Fi
Options:
. U% UF HET S HIfT o)

. v T€ FER R H HEET o

2p 77 o=t & Sfeaa §9 &1 JE7 &g o)

ih IZ ST & Wifeda 99 &7 §ET ey o

Question Number : 128 Question Id ;: 16794319718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The thoughts of were published together in a treatise entitled The German Ideology.

Options:
, w Friedrich Engels

- o Karl Marx



% % Martin Luther

4 % David Ricardo
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Question Number : 129 Question Id : 16794319719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The chaotic insurrectionary events of 1848 begged for a coherent interpretation, which Marx and Engels intended to
supply. Which is/are correct about their provocative theory?

Options:
1, -

The proletariat was now rising to overthrow the currently prevailing dominance of the bourgeoisie

o B
The state, invariably an instrument of the ruling class. would doubtless attempt to suppress this immense uprising of workers

3%
But ultimately the revolution was bound to succeed in overthrowing the existing social order and establishing a classless
society

4 « All ofthe given options
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Question Number : 130 Question Id : 16794319720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who gave the famous motto “the socialist movement means everything, the end means nothing.”” which recurs
frequently in Liberal Socialism?

Options:
1 % Karl Marx

> « Eduard Bernstein
3z % Rosselli

4 % Benedetto Croce
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Question Number : 131 Question Id : 16794319721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following did NOT play a crucial role in rise of Nazism in Germany?

Options:



, w Treaty of Versailles

R

The core of the Nagzis, the disillusioned generation that came of age in the 1920s, like Strasser, Ernst Rohm, Hess and
Hitler, belonging to the trench generation

- w Growing fear of Communism

4  Anti-Aryan propaganda

Question Number : 131 Question Id : 16794319721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S fat R 8 [ &
THAT H ARG & 36T & fhae dgcaor sffer 78 Aee?

Options:

o ®
Aferdt #1 e, ST 9 S 1920 F ek F AT U1, B, ¥=Ee VeH, #W 3R feer &9 A @
e &l

_ HFYT=H F F&4T =T
3_ - s}
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Hitler’s decision to intervene in the Spanish Civil war in 1936 was NOT as opportunistic because:
Options:

, » He wanted an alliance with Spain in future war politics

2.9

He was convinced that a Bolshevik Spain would be a strategic threat to Germany from the West

- » He wanted to annex of Spain in German empire

4% All of the given options
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question Id : 16794319723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“Which of the following is NOT a feature of the Dascism led by Mussolini in Italy?’

Options:
1 # The deification of the State and the Ruler

- = Absolute sovereignty of the State

= % Insistence on the duties of the citizens

4  Slow measures to establish democracy
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Question Number : 134 Question Id : 16794319724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which one of the following measures was NOT adopted to improve the Italian economy by Mussolini?
Options:

, = The government imposed heavy taxes on the rich

o B

He set up councils or corporations for each industry with representatives of workers, emplovers and nominees of the
Fascist party to improve production

5  He fixed 14 hours a day as working time in factories

4 = He compelled the factory owners to contribute towards the life insurance of their employees

Question Number : 134 Question 1d : 16794319724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 135 Question Id : 16794319725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is FALSE about the First World War in its initial phase?
Options:

, = Belgium was a neutral country

- u Italy remained neutral on the ground that Germany was not fighting a defensive war

o ®
The British position was unclear as the British Government was divided on the issue of going to war



4  Germany’s invasion on Belgium ended the neutrality of France
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Correct Marks: 1 Wrong Marks: 0.25

Which countries formed the Triple Alliance in 188272
Options:

. Germany. Japan, Russia

DR

-, » Germany. Japan. Italy

5 % Germany, Austria, Hungary

4  Germany. Austria, Italy
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Question Number : 137 Question Id : 16794319727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Italy entered in the Second World War in

Options:
; % 1 September, 1939

> # 3 September, 1939

2 # 1 June, 1940

4 v 10 June, 1940
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Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of events and dates is mismatched about the Second World War?
Options:

; = 27 September 1939: Warsaw falls and Poland surrenders

5 % 10 June 1940: Norway surrenders



3 o 29 June 1940: France surrenders

4 = 19 July 1940: Hitler offers Britain a peace settlement
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Question Number : 139 Question 1d : 16794319729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
There are six principal organs of the United Nations. Which one is NOT one of the six principal organs?

Options:
The General Assembly

1 =%

> w The Trusteeship Council

z % The Secretariat

i o The United Nations Children's Fund (UNICEF)
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Question Number : 140 Question Id : 16794319730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The headquarters of the United Nations was previously located at . which later shifted to New York.

Options:
1 % Geneva

-~ % Vienna
7 « Paris

4 % London
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Correct Marks: 1 Wrong Marks: 0.25
The Sun was formed by moving cloud of gases, known as:

Options:
1 % Gedid

- % FEratosthenes
3 « Nebula

4 % While dwarfs
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Question Number : 142 Question 1d : 16794319732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With regard to the value of latitudes of important places. which of the followings is matched correctly?

1. Equator 1. Zero
2. Tropic of Cancer 2:23% BO°N

3. Tropic of Capricorn 3. 23° 30°S
4. Arctic Circle 4. 66% 30°S
5. Antarctic Circle 5.66° 30°N
Options:
; = 1.2andS5 only

> R

1. 4 and 5 only

1. 3 and 4 only

8N

4 « 1. 2and 3 only
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1. g 1. ==
2. Feh 1@ 2. 23° 30N
3. AFT @ 3. 23° 30'S

4.3a8 gaged 4. 66° 30'S
5. 80T yagead 5. 66° 30N
Options:
% FaA 1, 2 35
, % Ha 1, 4 35
.« aer 1, 3 3K 4

L FFe 1, 2 3R 3



Question Number : 143 Question Id : 16794319733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is INCORRECT about Continental drift theory?

[

Alfred Wegener propounded his concept on continental drift in the year 1912.
All the continents formed a single continental mass and a mega ocean surrounded the same.
The super continent was called ‘Pangaea’ and mega — ocean was called ‘Panthalassa’.

Lo 2

Options:
, = lonly

> w 2only

=z % 1 and 3 both

4 « None of the given options
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The word ‘Sedimentary’ is derived from the Latin word:
Options:

1 % Sedimentaranuim



> #% Sedimentanuim
z « Sedimentum

4 % Sedimentium

Question Number : 144 Question 1d : 16794319734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
_ BEACIASH (Sedimentaranuim)
1. % =

, » UEHCASH (Sedimentanuim)
. » WSHSH (Sedimentum)

. USHATETA (Sedimentium)

4.

Question Number : 145 Question Id : 16794319735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Put the following in ascending order when moving from earth upwards.

1. Ionosphere 2. Stratosphere 3. Troposphere

Options:
% 1,2,3

| ]
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Question Number : 146 Question Id : 16794319736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT true about Rocks?

Options:

, » The earth’s crust is composed of rocks. which is an aggregate of one or more minerals.

- # lgneous rocks form out of magma and lava from the interior of earth.

3 #

Rocks (igneous, sedimentary and metamorphic) of the earth’s surface are exposed to denudational agents and are broken
up into various sizes of fragments.

4  Sedimentary rocks are also known as primary rocks.

Question Number : 146 Question Id : 16794319736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following is NOT one of the major controls of the climate of any place?
Options:
, = Pressure and wind system

-~ » Continentality

= % Ocean currents

4  Longitudes

Question Number : 147 Question 1d : 16794319737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question Id : 16794319738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following options of ‘permanent gases of the atmosphere’ is in the correct sequence according to their
percentage by volume in atmosphere (highest to lowest)?

Options:

Ar. Oy, COy, Ny, Ne

¥ -

CO, Oy He,Ne

I~

r.a
®

Oy CO, Ar. He

=

Oy Ar COy He

o
S
o
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Correct Marks: 1 Wrong Marks: 0.25
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Options:

1% Ar, Os, CO9, N, Ne

5 % Ny COs Oy He, Ne

2 % N Oz COy Ar, He

o No Oz Ar CO; He

Question Number : 149 Question 1d : 16794319739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With regard to greenhouse gases. which of the following statements is true?

1. The primary Green House Gases of concern today are carbon dioxide, choloroflurocarbons. methane, nitrous
oxide and ozone.
2. Ozone which absorbs ultra violet radiation in the stratosphere is very effective in absorbing terrestrial radiation
when it is present in the upper troposphere.
Options:
, « 1only

> % 2only

%z % 1 and 2 both

4 = None of the given options
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Question Number : 150 Question Id : 16794319740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The circulation of water within the earth’s hydrosphere in different form., is known as:
Options:

. w Weather cycle

-~ % Natural cycle

-  Hydrological cycle

4 # Climate cycle
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Question Number : 151 Question Id : 16794319741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following options has the highest percentage of the total water on earth’s surface?
Options:

1 % Steam and Rivers



> % Soil moisture
z % Lakes

4 Ice caps
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Question Number : 152 Question Id : 16794319742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following bodies has the highest salinity?

Options:
1 « Lake Van

- % Red Sea
- % Great salt lake

4 % Dead Sea

Question Number : 152 Question Id : 16794319742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 153 Question Id : 16794319743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the given options is the highest peak of Himalaya in India?

Options:
1 % Mt Everest

> o Makalu

- » Dhaulagiri

4 # Nanga Parbat

Question Number : 153 Question Id ;: 16794319743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question Id : 16794319744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one of the following options is the origin of River Beas?
Options:

, « Rohtang Pass

- % Virenag Spring



z % Rakas Lake

4 % Mansarovar

Question Number : 154 Question Id : 16794319744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question Id : 16794319745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Chronogically arrange the soil avaibility according to their total reporting area (from highest to lowest).
Options:

| ® Mountain Soil. Desert Soil. Red and Black Soil. Laterite Soil

5 % Red and Black soil, Laterite Soil, Mountain soil. Desert soil
- « Red soil, Black soil, Mountain soil, Desert soil

4 % Black Soil, Desert soil, Laterite soil, Grey and brown soil

Question Number : 155 Question Id ;: 16794319745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 16794319746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From which of the following has the word ‘Monsoon’ been derived?

Options:
1 % Latin

> % Spanish

= « Arabic

4 #% German

Question Number : 156 Question Id : 16794319746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 157 Question Id : 16794319747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With regard to the El — Nino. which of the following statements is true?

1. El—Nino means Child Christ.
2. Itis a warm ocean current appearing along the Peru coast, generally in December.
3. The Indian monsoon is also influenced by El — Nino.

Options:

1 % land2



> % land3
z % 2and3

4  Allof the given options
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Question Number : 158 Question Id : 16794319748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the given options is NOT an immediate objective of the National Population Policy. announced on
15% Feb, 2000?

Options:

; = Contraception

> % Healthcare infrastructure

% % Child health care

4 « Hospitalization

Question Number : 158 Question 1d : 16794319748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 159 Question Id : 16794319749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not the mineral belt of India?
Options:
Chotanagpur

3.9

> u Southern Region

= % Indian Ocean

4 « [Eastern Region

Question Number : 159 Question Id : 16794319749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question Id : 16794319750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following states had the highest percentage production of Iron ore in 2015-167

Options:
1 % Jharkhand

> % Goa
= « Karnataka

4 = Chhattisgarh

Question Number : 160 Question Id : 16794319750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 161 Question Id : 16794319751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With regard to the commission for Agricultural Costs and Prices (CACP), which of the given statements is FALSE?

1. CACP was established with a view to evolve a balanced and integrated price structure and is mandated to advice
on the price policy (MSP) of 23 crops.
2. CACP submits its recommendation in the form of Price policy reports every year.

Options:
; % Onlyl

» % Only2

=z % 1 and 2 both

4  None of the given options
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Question Number : 162 Question Id : 16794319752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hindustan Flourocarbons Ltd (HFL) is subsidiary company of

Options:
1 % Hindustan Oil Ltd

> % Hindustan Petro-chemicals Ltd
% % Hindustan Insecticides Ltd

4 « Hindustan Organic Chemicals Ltd

Question Number : 162 Question 1d : 16794319752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 163 Question Id : 16794319753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
New Manglore Port was declared as the Port.
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Question Number : 164 Question Id : 16794319754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is correct about Tsunami?

1. The term Tsunami comes from Korean word “tsu” meaning Harbour and “nami” meaning wave.
2. Tsunami has much smaller amplitude (wave length) offshore and a very strong wavelength at sea.

Options:
, » lonly

o o 2only

=z % 1 and 2 both

4 = None of the given options
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Question Number : 165 Question Id : 16794319755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The New Health Policy was/has been launched in which of the following years?

Options:

3 o 2017
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Correct Marks: 1 Wrong Marks: 0.25
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Options:

, % 2015
- » 2016
2 v 2017

4 % 2018

Question Number : 166 Question 1d : 16794319756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Self-Employment and Talent Utilization (SETU) has established under which of the following?
Options:

, » Ministry of Labour and Employment

- » Ministry of Commerce and Industry

5 » Ministry of micro, small and medium enterprises



4 « Niti Aayog
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Question Number : 167 Question Id : 16794319757 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the recently released Global Hunger Index report. out 119 countries, India’s rank is:

Options:

5 o 1000
3 % 84

4 % ogth
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3 % 84

4 % 987

Question Number : 168 Question Id : 16794319758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is correct about ‘Merchandise Export from India Scheme™?

1. It was introduced in 1st April, 2015.
2. Itis amajor export scheme that seeks to promote export of notified goods manufactured/produced in India.
Due to high consumption, agricultural products are not covered under the scheme.

LN

Options:
, = lonly

>  land2only

5 % 2and3 only

4 = Allof the given options
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following options is INCORRECT?

Options:
1 % Bank Rate at which RBI lends to commercial banks.

o ®
Statutory Liquidity Ratio (SLR) is the ratio of total deposits of a bank which it has to maintain with itself in a liquid
form at any given point of time.

3"
Reverse Repo at which RBI sells government securities to banks in order to absorb excess liquid from market.

4  Fixed Rate is a rate of interest that varies for the entire term of the loan or deposit.
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Question Number : 170 Question Id : 16794319760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Self Help Groups:

Options:
, = provide financial support to poors

- u provide funds to start small scale industries

-  Dpromote small savings among its members

4 % encourage members to open bank accounts
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Question Number : 171 Question Id : 16794319761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who addresses the Houses together at the commencement of the first session of each year?

Options:

, = The Speaker

> « The President
= % The Prime Minister

4 # TheProtem Speaker
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Question Number : 172 Question 1d : 16794319762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The President of India is elected by an electoral college consisting of:

Options:
1% all the members of Lok Sabha and Rajya Sabha

5 R elected members of Lok Sabha and Rajya Sabha

-  clected members of Lok Sabha, Rajya Sabha and the state legislature

4 = themembers of Lok Sabha, Rajya Sabha, members of legislatures and council
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The 44™ amendment deals with which of the following options?
Options:
, « Abolition of right to property as fundamental right

-~ » Curbing the fundamental rights

- w Curbing the jurisdiction of high courts

4 % Extension on reservation of seats in Parliament
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question Id : 16794319764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements regarding Judiciary in India are correct?

Article 122 provided the establishment of the Supreme Court with a chief justice and seven other judges.
In case of appointment of a judge other than chief justice, the chief justice shall be consulted.

Every judge of Supreme Court holds office until the age of 65 years.

The Supreme Court of India is free from the control and influence of legislature and executive.
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Options:
1 % land 2

- % land 3
-z % land 4

4« 2:3and 4
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Question Number : 175 Question Id : 16794319765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The first Constitution of India framed and given to themselves by the people of India was adopted by the Constituent
Assembly on

Options:
| % 26" January, 1950

15t August, 1947
- v 26WNovember, 1949

26™ January, 1949

Question Number : 175 Question Id : 16794319765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 16794319766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The judge of a High Court in a state is appointed by the President in consultation with:



Options:
1 #% the Chief Justice of India

> o the Chief Justice of India and the Governor of the state

- » the Chief Justice of India and the Governor and the former Chief Justice of the High Court.

4 = the Governor of the state only

Question Number : 176 Question Id : 16794319766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question Id : 16794319767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Representation to states in the Rajva Sabha is given:

Options:
, = asanequal number of seats to each state

- « in proportion to their population

5 % inproportion to their size

4 # in accordance to their resource

Question Number : 177 Question Id : 16794319767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question 1d : 16794319768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In India, the gap between one session of Parliament and the next CANNOT be more than:

Options:
1 % three months

> o SiX months
%z % nine months

4 % twelve months

Question Number : 178 Question 1d : 16794319768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 179 Question 1d : 16794319769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The original Constitution contained how many articles?

Options:



[N ]
b
[N
20
pan ]

o
g{
]
e
e

Question Number : 179 Question 1d : 16794319769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ao gfaura # fFras ag=oe e 47
Options:

. % 350
. » 395
s = 380

4 % 390

Question Number : 180 Question Id : 16794319770 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The term ‘Parliamentary’ refers specifically to a kind of democratic polity wherein the supreme power vests in the:

Options:
1 % President

- « Parliament

- » Rajya Sabha

4 % Union

Question Number : 180 Question Id : 16794319770 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 181 Question Id : 16794319771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following Articles is it mentioned that “there shall be a High Court in each State™?

Options:
1« 214

o® 21T
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Question Number : 181 Question Id : 16794319771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 16794319772 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Constitution as originally adopted had how many Parts and Schedules?
Options:

, = 18 parts and 10 schedules

o « 22 parts and 8 schedules

5 = 10 parts and 22 schedules

4 # 12 parts and 20 schedules

Question Number : 182 Question Id : 16794319772 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question 1d : 16794319773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
After the death of DP Khaitan. who became the member of the Drafting Committee?

Options:
1 #% Madhav Rao

> o TT Krishnamachari
z % Annie Besant

4 = DadaBhai Naoroji

Question Number : 183 Question Id : 16794319773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 16794319774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is INCORRECT about the Constituent Assembly?

Options:

, % The first Constituent Assembly meeting was held on ot December, 1946.

- = Dr. Sachhidanand Sinha was the oldest member of the Constituent Assembly



3. ¢
On 9 December, 1946, Dr. Rajendra Prasad was elected as the president of the Constituent Assembly

4 R 24th January. 1950 was the last day of the Constituent Assembly

Question Number : 184 Question 1d : 16794319774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 16794319775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the followings is NOT a feature of the federal system?
Options:

1 % Dual Government

- % Distribution of Powers

5  Supremacy of Parliament

4 # Authority of courts

Question Number : 185 Question Id : 16794319775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 186 Question Id : 16794319776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the Indian federal system, exercise of which of the following powers is limited by the fundamental rights?

Options:
1 % Executive

-  Legislative

= % Financial

4 % Administrative

Question Number : 186 Question Id : 16794319776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 187 Question Id : 16794319777 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following articles of the Constitution provides the election commission as an Independent body?

Options:
1 % Article 323

> o Article 324



3 % Article 329

4 = Article 329 (b)

Question Number : 187 Question 1d : 16794319777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 188 Question Id : 16794319778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is correct about the Election Commission?

1. In the beginning, the Election Commission consisted of the Chief Election Commissioner and four election
commissioners.

2. The Election Commission shall have the power of superintendence. direction and conduct of all elections to
Parliament and the state legislatures and of elections to the offices of the President and Vice-President.

3. Regional Commissioners may also be appointed by the President. in consultation with the Election Commission
for assisting the election commission in general election or state legislature.

Options:
, = lonly

- w 2only

=z % 1 and 2 both

4 + 2 and 3 both
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Question Number : 189 Question Id : 16794319779 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With regard to political parties and groups, which of the following statements is correct?

1. In Lok Sabha, those with a minimum strength enough to keep the quorum, i.e. 1/10™ of the total membership, are
recognised as Parliamentary Parties.
2. In Rajva Sabha, those with a minimum of 30 members are recognised as Parliamentary Groups.

Options:
, « lonly

> w 2only

=z % 1 and 2 both

4 = None of the given options
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Question Number : 190 Question Id : 16794319780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Constitution (52“‘1 amendment) Act which added the Tenth Schedule. is commonly known as:

Options:
 Protection of Civil Rights Act

Do

5 % Schedule Castes and the Scheduled Tribes ( Prevention of Atrocities) Act

3 o Anti-Defection Law

4 % National Commission for Scheduled Castes
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Question Number : 191 Question Id : 16794319781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Speech and language skills are a part of:

Options:
, « carly childhood learning

-~ % cognitive learning

= # Psycho motor skills

5 ® practice sessions
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Constant change in society is expected by:

Options:
| % Anomnymous people

5 % strangers

= % children

4 o Ccitizens
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Electronic learning comes under
Options:

, « Distance learning

» u E-learning

z w 1T learning

4 = Iraditional learning
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Question Number : 194 Question Id : 16794319784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Notations, symbols, graphs are a part of:
Options:

. « Mathematical terminology

> % Technical education

5 = Scientific terminology

4 % All thegiven options
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eradicating pay gaps and increasing the chances of women’s work force is possible only through:

Options:
| « girls’ education
special syllabus to girls

government policies

4% None of the given options

Question Number : 195 Question Id : 16794319785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
AT HIUH F TWeH FT 3T Afgemst & sdas & guEast #F ge= & AeUH ¥ Fad gET &

Options:

| o5 foreT

.« TSR ¥ T RS TreTmA
.« T AR

, o TR R

Question Number : 196 Question Id : 16794319786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Learning and education are:

Options:
1 #% similar terms

> o distinet terms
5 = parallel ways

4 = hotcomparable
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Integrated text books for Language, Maths and Environmental Studies, as part of integration of arts, were developed for
the first time in:

Options:
1« Assam

- % Arunachal Pradesh
- % Kerala

4 % Uttar Pradesh
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Correct Marks: 1 Wrong Marks: 0.25
Picnics to parks comes under:

Options:
, « Environmental knowledge

- % Foundations of education

= % Formal Education

4 % Non Formal Education
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Correct Marks: 1 Wrong Marks: 0.25
Teaching about solar power comes under

Options:
1 « Environmental awareness

- #% Social Studies

5 # Power saving techniques

4 % Practical education
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Clinical and support staff are integral members of:
Options:
1 « Inclusive schools

-~ = Special schools

- » Integrated schools

4 = Corporate schools
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